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1. Show what the output of the NetLogo program would look like after the following procedure has finished. Each
square you see represents on PATCH of the NetLogo grid, with the center patch being in the usual place, the center
square. For your convenience, | have marked the center square with the letter C for Center. Fill in the Grid with
exactly what the output would look like. Show your answer by drawing the turtles and output they leave behind.
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2. Show what the output of the NetLogo QuestionTwoPattern procedure would look like after the following procedure

has finished. Again, each square you see represents on PATCH of the NetLogo grid, with the center patch being in the
usual place, the center square. For your convenience, | have marked the center square with the letter C for Center.

Fill in the Grid with what the output would look like when the program has finished. Show your answer by drawing
the turtles and output they leave in the GRID here.
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